DO NOW

pg209:#17 hzsin%+ cos x

1
h =2$n'nxcosx ~-Sinx

(0,2r)

2sinxcosx -Sinx = o
Sinx(2cosx -1)=0O
Sink=0 ow 2¢osx-1=0

Cosx= %
s |G 2
® X=T o weT ST
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Example: Find the absolute maximum and minimum.

1. Ax)=2(3-x)yon[-1,2]
Flx)= 6-2x
£)= -

left: £(-0= 2(d)=8
rigt:F(@)= 20)=2

Minimum: (2,2>
maximum: (= §)
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3. f{x)y=2sin x - cos 2x on [0, 27]
Fl)=2cos x+2sin 2

2¢cosx+2sin2x =0
2cosz+2(2s;mccasx)=o
2cosx + Y Sinx cosx = ©

2cosx (l-\-Zsinx):Q
cosx=0 or l+¥2sin XI=O
cosx=0 Sink="3

(:L_'Lr
T 3T Tt STl
X-}'J 2 ‘p)t'
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4.1 Extrema on an Interval - Day 2

To find the extrema of a continuous function f'on a closed

interval [a, b], use the following steps.

1. Find the critical numbers of fin (a, b).

2. Evaluate fat each critical number in (a, b).

3. Evaluate fat each endpoint of [a, b].

4. The least of these values is the minimum and the

greatest of these values is the maximum.
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2 fix) =3 -4 on [-1, 2]
£0)= 12¢% 1252
IZx’-lb&:o
123(x-1)=0
2x20 or x-l=0

minimum: (1,-1)
Maxmum:. (2,1 (n)

X=0 x=1
left: £C)=3+4=77

ca: £(0)= O
cHL )= 3 -y=

rigt: £(2) = Yg-33= l(,,
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Ax) = 2sin x - cos 2x on [0, 27]

left: (o) = 2 Smfo) —cos(2:6)=
] T

c.# F(D)= 2s,n(E)—cos(2 D=3

A+
Ca: F(—}'j:z s;h(g')*ws(Z'%"j: ol
o ()= 2 sig:’"l) cos(22 7"}='—§
C.#: P('-EI) Zsm("“')._co (Z mr): %

njH 'F(Zﬂ 2 sin (2~n-) —cos(22m) =~
O
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minimum: ( lu- )




HOMEWORK

pg 209 - 210; 22, 26, 29 - 35 odd, 36, 39, 41
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